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1 W KR FHH FE 1/5 32.22 ( )
2 g FHIF 1/ 6 34. 95 «FH) ( )
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L 1% >
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1 BFH &= KRR /N 4/ 1 29. 94 ( )
2 NIANEE ALY DA< /M 2/ 2 30. 80 ( )
3N B3¢ FHH /M 3/ 6 33.50 *F&) ( )
4 PRI HEER IN7) /M 1/ 4 43. 24 ( )
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B K 4 T B FE KK B R
1 IBH EH Ji 5, N2 2/ 5 25.24 ( )
2 WBH K5I /N2 4/ 3 27. 31 ( )
3 g R FHH /N2 3/ 5 29.23 ( )
4 FaX &)Y Ji R /N2 3/ 1 29. 78 «F&) ( )
5 [H  FEAR FHIE /N2 1/ 7 29. 79 xFH) ( )
6 ERIIITHE -H /N2 2/ 1 30. 17 «F&) ( )
TN TR FH /N2 2/ 6 30.76 ( )
8 HH HWE AR /N2 1/ 2 30. 96 ( )
9 K& Yy JR R /N2 3/ 2 31.04 «F&) ( )
10 Fhih  EESR T/ K /N2 1/ 1 31.68 ( )
11 FBHOXLY KSR N2 3/ 1 31. 81 ( )
12 5k EAE L /N2 2/ 4 33.12 ( )
13 Falis 2 B /K N2 5/ 1 38. 39 xF#) ( )
14 EHHAF SRS g7) N2 3/ 3 38. 84 ( )
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1 AiEN R 2 /K /N3 6/ 6 23. 44 ( )
2 KR K5I /N3 6/ 2 26. 04 ( )
3 A A DA< 9 N34/ 2 26. 30 ( )
4 WA RESR J L NS 4T 28. 26 ( )
5 Fil URA B R /N3 1/ 3 32.49 ( )
6 FERFE FHH /N3 4/ 5 33.97 ( )
T g B T35 F N3 2/ T 34.23 ( )
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1 g G KR ! 2/ 3 26. 82 ( )
2 HiE B FHIHF /N 5/ 2 28. 66 ( )
3 Kl ERA KRR N4/ 4 30. 88 ( )
4 BR ¥ St N3/ 4 33.04 ( )
5 R PR J 5 N4/ 6 33.17 ( )
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4 Mz b7 FHIt /NG 5/ 3 26. 43 ( )
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6 AKEF  EhE KA /NG 5/ 6 30.17 ( )
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2 KK T S NG 6/ 7 26. 96 ( )
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1 /NVER ER 7 =SB 6/ 4 21.95 ( )
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